

Drury Plaza Hotel San Antonio Riverwalk

TRAVEL happy

DRURY PLAZA HOTEL

SAN ANTONIO | RIVERWALK

105 South St Mary's Street, San Antonio, TX 78205

Our team is ready to deliver prompt, personalized service to ensure your event will make a big impact. Experience *Meetings with More* value featuring free Wi-Fi in meeting rooms, no food and beverage minimums, flexible cancellation policies, and our best-in-class free amenities for hotel guests.

MEETING SPACE

10 meeting rooms

- 12,000+ sq ft of meeting room space
- Accommodates up to 400 in largest capacity space

ROOM TYPES

368 spacious guestrooms & two-room suites

- 100 deluxe king rooms
- 144 deluxe double queen rooms
- 124 deluxe two-room suites

AMENITIES



The Kitchen + Bar - Open late, every night 24-hour business & fitness centers Heated outdoor rooftop pool & two whirlpools (23rd Floor) Indoor pool & whirlpool (San Fernando Tower) Guest market available Microwave & refrigerator in every room Drury Rewards® loyalty program

PARKING

On-site covered parking-valet only (\$39/night+tax)

FOR MORE INFORMATION ON PLANNING YOUR NEXT EVENT, PLEASE CONTACT OUR SALES TEAM AT:

- € Groups@DruryHotels.com
- **p** 210-220-2990







DRURYHOTELS.COM



TRAVEL happy

Drury Plaza Hotel San Antonio Riverwalk

Capacities & Dimensions

We offer a variety of customizable set-up options to make your next event a success.

Room	Dimensions	Sq. Ft.	Banquet 10 chairs	Crescent Rounds 6 chairs	Conference 3 chairs per 6 ft	Theater	Classroom 3 chairs per 6 ft	U-Shape 3 chairs per 6 ft
Frio Ballroom - Riverwalk Level	137' x 30'	4,110	210	96		250	122	
Friol	41' × 28'	1,148	50	32	24	50	30	21
Frio II	41' × 28'	1,148	80	48	36	88	45	33
Frio III	55' x 33'	1,814	80	36	24	70	45	24
San Antonio Ballroom	66' x 64'	4,224	270	162		400	250	
San Antonio I	66' x 32'	2,112	120	72	50	200	120	42
San Antonio II	66' x 32'	2,112	120	72	50	200	120	42
Medina	49' × 20'	980	50	30	36	80	45	30
Blanco	42' × 19'	798	30	18	24	60	36	21
Trinity	37'×24'	888	30	18	24	40	30	21
Guadalupe	31' × 20'	620	30	18	24	40	30	21
Comal	21' x 15'	315			8			
Riverwalk Patio	111'×31'	3,441	90			120		
San Fernando Terrace	80' × 30'	2400	80					
SAIPre-Function		720						
SA II Pre-Function		996						
San Fernando Terrace Pre-Function		876						

** Flexible Meeting Space 18,000 sq ft ** Meeting Room Sqft: 12,000 sq ft within the 10 rooms we have.



Drury Plaza Hotel San Antonio Riverwalk

TRAVEL happy

Break Packages

We offer all-day beverage service, as well as AM or PM breaks, so your meeting never runs out of steam. **No food & beverage minimum is required.**

\$20 / person

\$16 / person

Beverage Breaks

All day service** - will refresh as needed; 10 person minimum.

Standard

- "Basic" package, plus...
- Assorted Soda Cans
- Bottled Water

Basic

- Regular/Decaf Coffee & Hot Tea

Recharge Food Breaks

Pricing valid with purchase of Beverage Break; 45 minute service; 10 person minimum; select items may have a per person upcharge as indicated (*).

Sweet & Savory \$18 / person Mix & match up to four (4) selections from our "Sweet" or "Savory" list. Additional selections \$2 / person.

Sweet & Savory \$14 / person
 Mix & match two (2) selections from our "Sweet" or "Savory" list.
 Additional selections \$2 / person.

Other Food Options

Fiesta Package \$20 / person
 Aguas frescas - 2 flavors (*watermelon, cucumber, pineapple, lime, cantaloupe*)
 Tortilla chips, salsa, and queso

Churros with dipping sauces (caramel, white chocolate, chocolate)

Continental Breakfast

\$15 / person

Toast white/wheat, muffins, bagels, cream cheese, jams, whole fruit, hard boiled eggs, yogurt cups, 2 juice options.

Prices are subject to change and are exclusive of service charge and local sales tax. ** All day service consists of 8 hour time limit.

A La Carte Selections Add. Cost

	Coffee - 1 gal. (regular or decaf)	^{\$} 60
	Aguas Frescas - 1 gal.	^{\$} 35
	lced Tea - 1 gal.	^{\$} 25
	Energy Drinks (i.e. Red Bull) (ea)	\$6
	Premium or Sparkling Bottled Water (ea)	\$5
	Black & Herbal Tea with Hot Water (ea)	\$3
	Soda/Juice/Water (by the can/bottle) (ea)	\$5
	Cookies (1 dozen)	^{\$} 25
	Brownies (1 dozen)	^{\$} 25
	Danish (1 dozen)	^{\$} 35
	Muffins (1 dozen)	^{\$} 35
	Build Your Own Trail Mix Station	\$8
	Yogurt Parfait Station (granola, fruit, honey)	\$8
	Popcorn Bar (freshly popped, assorted flavored salts)	\$8
S	weet Selections	Add. Cost
	Greek Yogurt Cups	\$2

3	
Churros with Dipping Sauces	\$4
Candy Bars	\$2
Cookies	-
Brownies	-
Whole Fruit (bananas, apples, oranges)	-
Granola Bars/Cereal Bars	-
Rice Krispy Treats	-
Yogurt Cups	-
Danishes	-
Muffins	-

Savory Selections

	Hummus with Pita Chips	\$2
	Chips & Queso	^{\$} 2
	Chips & Salsa	-
Pı	re-Packaged Options	Add. Cost
	Kettle Potato Chips	-
	Popcorn	-
	Pretzels	-
	Trail Mix	-

* other options may be available upon request

Add. Cost





Drury Plaza Hotel San Antonio Riverwalk

Catering Options

Below is our preferred catering vendor.

Signature Catering

SignatureCateringInc.com

- **P** 210-701-7070
- **E** sales@signaturecateringinc.com



TRAVEL happy

Drury Plaza Hotel San Antonio Riverwalk

Audio-Visual Equipment*

Complimentary high-speed Wi-Fi is available in all meeting rooms. Our AV partner can provide any required equipment not listed below. Let our team of experts help you determine your unique technology needs to meet the goals of your event. All audio-visual is subject to a 23% service charge and applicable sales tax. Delivery fees may apply. Outside AV fees will apply if you bring your own equipment.

ITEM	PRICE
High-Speed Wi-Fi	FREE
Podium	\$50
Screen	\$100
 San Antonio Ballroom LCD Projection Package 2 LCD Projectors (4,000 Lumen) & Screens HDMI Splitter Mixer DI Box with Aux. Cable for Laptop Sound Wireless Handheld Microphone 	\$1,000 / day
 Stand Up Podium with Wired Microphone 	
LCD Projector - San Antonio Ballroom Only - 4,000 Lumens	\$350
LCD Projector - All Other Meeting Rooms - 2,000 Lumens	\$200
 Lavalier Microphone 	\$150
Wireless Handheld Microphone	\$150
Wired Microphone	\$50
Microphone Stand	\$20
 Stand Up Speaker 	\$125
Polycom Speaker Phone	0e [‡]
 Flipchart with Easel & Markers 	\$45
 Post-It Flipchart with Easel & Markers 	^{\$} 65
□ 50" TV	\$300
□ 60" TV	\$350
 DI Box with Aux. Cable for Laptop Sound 	^{\$} 50
 Splitter 	\$100
 Mixer 4 Channel 	\$50
Laser Pointer	\$35
HDMI Adapter	\$20
Powerstrips/Extension Cords	\$25 / per
Meeting OWL	\$300
 Confidence Monitor 	\$200
Pipe & Drape	\$15 / per linear foot
Uplighting	\$75
 4' x 8' Stage Sections 	\$180 / per
 On-Site AV Technician - 4 Hour Minimums 	^{\$} 60/hr Monday -Friday ^{\$} 85/hr Nights + Weekends

* For the convenience of meeting planners, groups may bring their own audio visual equipment if desired. If the group requires equipment not carried by the hotel, equipment will be ordered from an approved local AV supplier and the customer will be billed the suppliers price through the hotel on the Banquet Event Order. AV equipment and pricing are subject to change. Please contact our Group Sales Department at 210-220-2990 for complete details. All AV equipment includes an extension cord and powerstrip. Pricing and available equipment are subject to change. Listed AV is priced per day and is exclusive of tax.

DRURYHOTELS.COM